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B.A. (CBCS) DEGREE EX‘AMINATION,-APRIL 2023
Fifth Semester
Economics
Major Elective — LABOUR ECONOMICS
(For those ﬁho joined in July 2017-2019)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. Qgmemreri Grésmen 2 (heumeig)
(<) - QUGS (<) eNHmed
(@) Gewdupamm (rF)  Cupamdlu SmarsgLb

Labour problems arise due to
(a) purchase | (b) sale

| (c) - performance (d) all the above



3.

2_GnLPLIL| GTEITLIG) el apuipdaafle ———
(Bf) 216D (<9p,)  LDGUTID

(@) erdlruniiser (1) GinanMul oienerdgiLb
Labour consists of human effort of —————

(a) body (b) mind

(¢) expectétion (d) all the above

QgmPlh &mig FU LD @ hHuImeildr (ApHEsT  (LPEnHUITE
DM psIOEE W e ()

() 1953 (9,) 1926

(@) 1890 (F) 1891

Trade Union Act of India was first established in
the year

(a) 1953 (b) 1926

(c) 1890 0 (d) 1891

Qamfled Gomgedaelr wrmsSeoLGu  penCumislng

(=) @ sbQuallaer (<) @HEGpSSEET

@) @ (@g}]@.lGUTféJEédT(FF) Guopahw egiLblerane
Industrial disputes arises between

(a) two compaﬁies (b) two parties

(c)  two firms (d) None of the above
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Fgal_HUGUTLD eTeTUS ETSTTERTONS
(S) DHUWssSsSaTan () WPLWPSSATLD
(@) uenpsssa@n ()  gHIbldme

Collective bargaining is usually a
process.

(a) bipartite (b) tripartite

(¢) multipartite (d) none

Liemtl @& W ©_(HeUM&H fmieuersdle
Qemflenariser @ més GauamGibd.

(<) 100 (<)) 20

(@) 500 (fF) 10

The works committees are set up in all industries
employing ———— or more workers.

(a) 100 (b) 20

(¢) 500 (d) 10

[HEULD GTEITLIG)
(1) Gpmoenp (<) erdlitnenm

(@) (=) wHmb (=) (rr) TG LOlEDEm 6V

Welfare is a concept.

(a) positive (b) negative

(¢)  both (a) and (b) (d)

none

Page 3 Code No. : 30189 B



10.

ILO gleudstiil 1 <y e8r()

() 1929 (9),) 1939
(&) 1919 () 1949
ILO was established in the year
(@) 1929 (b) 1939
() 1919 . (d) 1949
R Brliged 2 drer QgmblemerT He BL 6y smassamer
S Fafiug

(<)  peven

(<) Qsmemeri &metr

(@) Geuanauded <&} TEILD

() Gupsadliu enanss b

Labour welfare activities of any country will
Increase

(a) health
(b) worker’s efficiency

(c) involvement in work

(d) all

FOp& LIMGIGTLUIL] @(h LD SENE LITG&mLILIg,

(=) Gouemewulletmenn () @pliuih

(@) Grm (rF)  Gupemdu ggbldae
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11.

12.

A social security protects a man from

(a)
(c)

unemployment (b) want

disease (d) none

PARTB — (5 x5 =25 marks)

Answer ALL questions choosing either (a) or (b)
Each answer should not exceed 250 words.

(<)

(<=24,)

@rHurelle Qzmflereriger Erggas@m (WPEE W
Yrééflenersener o ellens5s.

E}_{plain the major problems of labour in
India.
Or

SHSTe GLoluwuisgsarer & T ORT RIS ET
Wirensy 7

What are the causes for temporary
migration?
Qsmilhetsnseier Lenflsdr wWrene
What are the functions of trade unions?
Or
Csmfipsrsnsaler Crrésnadr wranay 2
What are the objectives of trade unions?
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13.

14.

15.

(<21)

(=)

(<)

SlBpey Lrisef Qen pepsoar darsEs.
Explain  the methods of cooperative

participation.

Or

an@mnmr’r seallufen wéawusgeusSear
aﬂm&s@a.

Explain the features of workers education.

Csmflerart peen CTETDTE) eTelTar ?
What is meant by labour welfare?

Or

veterm_ (R Gsmfemeri <ienolignL udHd Amy
GOUY uenrps <isar Crrésisemer aQauf.

Write a short note on ILO and 1ts aims.
2.apuy ummermsmrsdd FOPS UNEISETLL
GIEES Slaréga.
Explain the term “social security” in labour
economic.

Or
&ps sTUSH Bss dn GPoy eers.

Write a short note on social insurance.
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16.

17.

18.

PART C — (b x 8 = 40 marks)

Answer ALL questions choosing cither (a) or (b).
Fach answer should not exceed 600 words.

(<)

(<2)

(<)

(<2p)

(<21)

@pHu  Qsmemarisatler @uib  Guuwirel
GDHISG a1 Es.

Explain the migratory character of labour in
India.

Or

- Qamfleomerit  eu(HE&HUGGITEnLD &D&gH  Hellr

SiMleug Wirg?
What do you understand by absenteeism in
labour?

@pHwreledr Qgmbleomeri GLomgesener g;@e}s@Lb
(LPENM&ET UITEnE ? :

What are the methods of settling industrial
disputes in India?

Or

2_enLpliyled Fo.l_(h Cury IBL_@1q.& 60 & & 6T
CopQardrer Geauetrig.ul (PENME&ET UITens6L ?

What process has to be taken in collective
bargaining in labour?

Qamplevmenit sl &dlGg Hm @D aienys.
Write briefly about workers education India.

Or
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19.

20.

(<)

(<4)

(<24)

QpHwurelledy s )  Cueredraw GIOEEL
©Nsg ferées.

Discuss the joint management council in
India.

CQsmemeri 1560 6vf) Gt DTEH5SDE &)
cramsWlenan eflard (&s.

Explain the meaning and scope of labour
welfare in India.

Or
Qsmlevmeri povernr Qaratensseear aﬂmé@as.

Explain the principles of labour welfare.

(21) @BIw seps uTgsTiy smelsmer aSleré g s.

Explain the social security measures in

India.
Or

Qgmfleomerit  mels Grssmarsemen Sriindled
Feps SN g6 eraleunn Qawdu@dng ?
How social insurance helps to over comes the
welfare problems of a labour?
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